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1. Solution of Clairaut’s form y = 1. TG FoRicd BM @ WA y =

px +alogpis: px+alogp3ﬁTﬂi
(A) p=c (A) p=c
(B) p=-—c (B) p=—c
(C) y=cx+alogc (C) y=cx+alogc
(D) None of these (D) T ¥ Pl I
2. Which of the following is 2. fyfafed & & @9 W wFeRicw
Clairaut’s equation ? T & 2
(A) y = px+ f(p) (A) y=px+f(p)
(B) x = py+ f(p) (B) x = py+f(p)
(©) y=xf(x) +F(p) (C) y=xf(x) + F(p)
(D) y=1fxp) (D) y = f(x,p)
3. Which of the following is the 3. fy=foRed #§ & @9 W FeRicH
Clairaut’s equation ? TR & ?
(A) x=py +f(p) (A) x = py + f(p)
(B) y = px+f(c) (B) y = px + f(c)
(C©) y=px+f(p) (C) y = px +f(p)
(D) y=x*+c D) y=x2+c

4. Solution of the differential 4. & TS fMH FHHR H GAHM y =

equationy:px+§is: px+§‘€ﬂﬂ:

(A) x+ty=c (A) x+y=c
(B) y=cx+% (B) y:cx+%
© y=x"+3 © y=xt+2
@) y=x+] D) y=ry+?
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5. Differential equation of the form 5. & g figed FHERT & ®H y =

y= Xf(p) + ¢(p) is: xf(p) + d(p) EﬁTIT :
(A) Bernoulli’s equation (A) e A e
(B) Lagrange’s equation _
(B) oS FHIGRY
(C) Clairaut’s equation
(C) TFoRicd FHIG
(D) None of these
(D) 3T 9§ 315 T
6. Singular solution of differential 6. CURI R b e s i eone S R 0
equation y = px + = is : TN y = px + = 8T :
P p
1
(A) y=cx+- (A) y:cx+%
(B) y*—4x=0 (B) y?—4x=0

2 —
© y*=2x=0 (C) y2—2x=0

(D) None of these (D) = A B A

7. The differential equation of the 7. o T3 fawe® AW oM@ BH y =

form y = p(x) + f(p) is known as: p(x) + f(p) &, I Fed &
(A) Euler’s equation (A) TR FHIHROT

(B) Clairaut’s equation (B) FoRIcH |HIGRT

(C) Lagrange’s equation (C) IS AHHRYT

(D) Cauchy’s equation (D) DIl FHER
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8. Solution of the equation, 8. T g THHU B FHAEM y?logy =

y?logy = xyp + p*: xyp + p2 ¥ :

— 2
(A) logy =cx+x (A) logy = cx + x?

(B) logy = cx? + &* (B) logy = cx? + e

— 2
(C) logx=cy+y (C) logx = cy + y?

(D) None of these (D) T N T T
9.  Solution of the differential 9. < TS fNEH AHERT B THRE y =
equationy:px+§is: px + = BT :
p
— a a
(A) y=cx+- (A) y=cx+-
a
B) y=cx*+ B) y=cx*+5
— 2 2 a
C) y=cx"+- (C€) y=cx*+=
— 4 2 a
(D) y=cx"+- (D) y=cx4+;
10.  Find the singular solution of y =  10. {=fcIRaq IHH0T &1 THAE TR
px+§: y:px+§EFﬂT'&>mT?
(A) y = 4ax? (A) y = 4ax?
(B) y=4ax’ (B) y = 4ax?
(C) y? = 4ax (C) y? = 4ax
(D) y? = 4ax? (D) y? = 4ax?
11.  What is the order, degree and 11.  fy=faRed faves wHiaxor &1 &, ol
solution of the differential 3N FHEE 7 2T ?
equation p = log(px —vy) ? p = log(px — y)
(A) 1,1,y =cx—ef (A) 1,1,y = cx— €€
(B) 1,2,y =e°—cx B) 1,2,y =e®—cx
(C) 1, undefined,y = cx — €€ (C) 1, R, y = cx — €€
_ _AC
(D) Undefined, 1,y =cx—e (D) AR, 1,y = cx — e
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12. Solution of the equation y = 12. @ T IR B GHRH y =

2
(@) + (@) < (%) + (&) @
(A) y=cx+c? (A) y=cx+ c?
(B) y=cx*+c? (B) y=cx?*+c?
(©) y=cx®+c? (C) y=cx3+c?
(D) y=cx*+c? (D) y=cx*+c?

13. For what value of 2z, the 13. ziﬁﬁv_ﬂﬂ@a\v‘%& PCh  THIHRT

differential equation z = px + p — Z=px+p — p? FoRTeH FHIaRu ¥
p? will transform into a Clairaut’s
95 adl & ?
equation ?
1
. (A) Jy
(A) Jy
1
. B) Ty
B) Ty
© vy
© vy
(D) 2y
(D) 2y
14.  Orthogonal trajectories of the 14, JAGR SfdRaey & URAR @
family of rectangular hyperbolas ST veTam Xy = c? S
Xy = c?is:

(A) y? —x* =k’
(A) y? —x* =k’
B) x?+y?=Kk?
(B) x2 +y? = k2 (B) Ky

C) x+y=c © x+y=c

(D) None of these (D) ¥ ¥ BIg e
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15.  Orthogonal trajectories of xy =h?  15.  xy = h? & NN Y&uass &N

are (A) X2_|_yZ:aZ
A) x% +y? = a?
( ) y (B) X2+2y2 :aZ
(B) x?+2y?=a?
(C) x*—y?=a’ Oy
X‘—y“=a

2 2 _ .2
(D) x%—2y?=a? (D) x*-2y"=a

16.  Orthogonal trajectories of y = ax?>  16. y = ax? &I 3MRII9l Yeqdss BT :

are i i i (A) X2+y2:C2
A =

()X+y c (B) X2+2y2:C2
(B) x%+ 2y? =c? s
©) y*-x?=c © ¥y - =c
(D) x2 -2y = 2 (D) x*—2y*=c?

17.  The orthogonal trajectories of one 17. TS Yeudsh BT U IRMIeX IRAR
parameter family x? + y? = c? are X2 4 y2 = c2 AT o el ¥
given by :

(A) y=ax
(A) y=ax
(B) y? = ax (B) y* =ax
(€) y=ax? (C) y=ax’
(D) y* = ax? D) y? = ax?
18. Roots of auxiliary equation of  18. & T fes Tiex &y 3Y _
dx? dx
. . . d’y  ,dy
differential equation oz 3 ol & ; 4
0 are:
(A) 0,3
(A) 0,3
C) -1,4
© 1.4 ©
(D) 1,—4 ®) 1.4
Series-B B.Sc. - B030201T / K-253 Page - 7



19. General solution of differential 19. o Tl_si PWed  THHOT BT AR
. ﬂ _ _ - dzy
equation — —y = 0is: WA 2~y = 0 BFT
(A) y=¢e" (A) y= e
B) y=e (B) y=e™
(C) y=ae* +be™ (C) y=ae*+be™™
D) None of these |
D)
20.  The value of —— cosax is : 20. > cosax &I A 8N :
D2+a? D2 +a?
(A) ;—:cos ax (A) ;—:cos ax
X . X .
(B) -5 Sinax (B) 5 Sinax
© ;—:sin ax ©) ;—:sin ax
X X
(D) ~a Cos ax (D) —a COS ax
21. Pl of the differential equation 21. o 73 figs FHHOT H PL
(D* + a’D)y = sinax is : (D3 + a2D)y = sin ax &M
X
(A) a2 COS ax (A) % COS ax
-X
(B) a2 COS X (B) % COS ax
X .
©) Sqz o ax ©) %sin ax
X . —
(D) 7oz Sinax (D) ﬁ sin ax
22. The particular integral of the 22. o 75 fdcd FHexw (D? + 1y =
differential equation (D? + 1)y = cosx BT RO arfe=T 2 -
COSX 1S : .
L (A) Esinx
(A) Esinx
- B) —sinx
(B) fsinx ®) 3
X .
©) gsinx © PR
X
(D) gcosx (D) 5 COSX
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23.  Solution of the differential 23. o TI_‘;f PEH  FHBROT BI AR

equation%—4%+4y20is: ﬂ_4ﬂ+4y:0‘€ﬂﬂ:
dx2  dx

(A) y = (e + cx)e™ (A) v = (c; + c,x)e

(B) y = (c1 + cpx)e™ (B) y = (c; + c,x)e™

(©) y=(c1 +cpx)e™ ©) v = (c; + c,x)e

(D) y = (c1 + cpx)e* (D) y = (c; + c,x)e?

24.  Particular integral of (D?+D— 24. (D24 D—-6)y=x @ fa99 3f~

6)y =xis: 21T

(A) 55 (6x+1) (A) Z(6x+1)

B) 5 (6x* +1) (B) =(6x*+1)
(© 5(6x*+1) ©) Z(6x*+1)

(D) 55 (6x* +1) (D) =(6x*+1)

25. Particular integral of the (D?®+ 25. (D?42D+ 1)y =2x+x% & fa9y

2D+ 1)y = 2x + x% is : =T B

(A) x*—2x+2 (A) x%—2x+2
(B) x°—2x+2 (B) x3 —2x+ 2
(C) x*—2x+2 (C) x*—2x+2
(D) x°>—2x+2 (D) x5—2x+2
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26. The C.F. of differential equation 26. o 78 favged THH & C.F.
d?%y dy _ . d? d
x2@+x&—y—x2exls. XZd_XZ+Xd_Z_y:X2eXgﬁT|T:
(A) cix+cx7 ! (A) X + cpx~1
(B) cie* +ce7™ (B) c,e*+ce7*
2 .
(C) ce* + e (C) ce¥ + e
(D) None of these (D) ST 9§ PIE TS
27. C. F. of the differential equation 27. o 73 fdWged IHexv & C. F.
2 &%y dy _ X a2 d _
X dX2+C1Xd_+2Y—eXIS xzd—)§+clxd—z+2y:e"3ﬁ7ﬂ.
(A) ¢ +cx (A) cq +cyx
(B) cx '+ cpx7? (B) ¢ x71 4 cpx72
(O) cie7* + cpe” (C) cie™* 4 c e®
(D) None of these (D) $TH q DY T8l
28. The P.I. of differential equation 28. o 73 figed FHHor &1 P.L
(D.E.) (D? + 1)y = cosxis: (D% + 1)y = cosx 8 :
1,
(A) ;sinx (A) %sinx
1
(B) Sxcosx (B) %xcosx
-1 -
(C) —xsinx (©) fxsinx
1.
(D) ;xsinx (D) %X sinx
29.  The complementary function of  29. & T GHET G R a1 %2 &y
2
2ﬂ—4)(ﬂ+6 =X1S: "
X e dx y= ' 4x%+6y=x?ﬂﬂ:
A) ¢;x? + cx3
(A) & 2 (A) c1x?% + cpx3
B) ¢;x3 + cpx*
B) o 2 (B) ¢;x3 + cx*
C * 4 cx°
(©) cux 2 (C) cyx* + x5
D) ¢;x° + cyx°
(D) & 2 (D) ¢;x° + c,x°®
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30. The complementary function of

Zdy+4 +2y—e1s

(A) ¢ +cx

(B) ¢ x71 4 cpx72
(C) cx 2+ cpx73
(D) c;x 734 cpx7*

31.  Which of the following is

Cauchy’s linear equation ?

2
(A) de—xy —3x—=

2
-2 72 __ — 2x
B) — 7dX 6y = (1 +x)e

(C) GZ-my=0

(D) (D? + 4)y = cos 2x

2
32 CF. of the equation XZZT_

xz—z+y = 2logxis:
(A) (¢ +cyx)logx
(B) (c1x+cy)logx
(C) (¢ +cylogx)e®
(D) x(ci + cylogx)
33.  Solution of the

2 d%y

equation x? e,

1S :

(A) y=e*(c;cosx+c,sinx) +

xeX

(B) y = x[c; cos(logx) + ¢, sin

(logx)] + xlogx

(C) y = x[c;, cos(logx) + ¢, sin

(logx)] + xe*
(D) None of the above

differential

dy —
—x ot 2y = xlogx

30.

31.

32.

33.

& T Wi B @ o x2S+
4X& + 2y = €¥ BN

(A) ¢ +cx

(B) ¢ x71 4 cpx72

(C) cx 2+ cpx73

(D) c;x7 3+ cpx*

frfaed & 9 @9 W o W
TG T ?

2d%y o, dy )
(A) x oz 3de+4y—2x
2
B) L—-7Z—6y=(1+x)e*
4

(©) T-mty=0
(D) (D? + 4)y = cos 2x
él[ T|—5$ Wfl@?” ng—xd—y+y=

dx
2logx @ C.F. &1 8T ?
(A) (¢ +cyx)logx
(B) (c1x+cy)logx
(C) (¢ +cylogx)e®
(D) x(ci + cylogx)

&§ T oS W x2S Yy

dx

2y = xlogx I HHET EFQT?I"’IT?

(A) y = e*(cq cosx + ¢, sinx) + xe*

(B) y = x[c; cos(logx) + ¢, sin
(logx)] + xlogx

(C) y =x[c; cos(logx) + ¢, sin
(logx)] + xe*

(D) T I BIg e
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34.  Solution of the equation y = px + 34, & T3 AHGRV BT GHRIE T BRT
ap(l—p)is: y=px+ap(l—-p):
(A) y=cx?*+ac(1+c) (A) y = cx? +ac(l +¢)
B) y=cx3>+ac(l1—7c) B) y = cx?+ac(l - )
(C) y=cx?*+ac(1—rc) ©) y=cx?+ac(l—c)
(D) y=cx+acl—c) (D) y=cx+ac(l—c)
35.  Find the singular solution of y> — 35, @& g  9HeRU  y? — 2pxy +
2pxy + p?2(x? —1) =m?: p?(x? —1) =m? &1 RiTeR FHEM
(A) y?+m?x? =m? G
(B) y?+ m?x3® =m? (A) y?+m?x? =m?
(C) y*+m?x3 =m? (B) y?+m?x® =m?
(D) y* +m2x3 = m?2 (C) y3+ m?x3 =m?
(D) y*+ m?x3 = m?
36. Differential equation y = 2px +  36. 3[R THIGRT y = 2px + f(xp?) &
f(xp?)is: (A) FoRed qHIER0T
(A) Clairaut’s equation B) p & foru g
(B) Solvable for p © x e R
(C) Solvable for x
(D) y & fory e
(D) Solvable fory
37. Singular solution of differential  37. < g 3R AHERT y = px — p? @I
equation y = px — p?is : RITeTR R 81T
(A) x*—4y =0 (A) x2—4y =0
(B) y*—4x=0 (B) y2—4x=0
©) xy=4 (C) xy =4
(D) x+y=4 D) x+y=4
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38.  Singular solution of the differential ~ 38. <1 g 3R THIRT y = px +§ BT
equationy:px+§is: WWTHWW
(A) y:ax+% (A) y=ax+%
(B) y? = 4ax (B) y? = 4ax
€) y*—x*=a® (C) y?—x%=aq?
(D) None of these (D) T q Pl ol
39. Solution of the equation 39. & T THHT  sin pxcosy —
sin pxcosy — cospxsiny =p is: cospxsinyszW“oTFfmi
(A) y=cx—coslc (A) y = cx—coste¢
(B) y=cx—sin"tc (B) y=cx—sin"lc
(C) y=cx—tan1c¢ (C) y=cx—tan"lc
(D) y =cx—cosec”lc (D) y = cx — cosec™t ¢
40. Singular solution of differential ~ 40. T T FHGR p = log(px —y) @I
equation p = log(px — y) is : ﬁﬂla-\! AR 81T
(A) y=xlogx—x (A) y=xlogx —x
(B) y =logx (B) y=logx
(€) y=ylogx —x (C) y=ylogx —x
(D) y=xlogx (D) y=xlogx
41. To solve the differential equation  41. o T3 3R FHIGRYT y = f(x,p) Al
y = f(x,p) we shall : S A P forg, g8 BT BN
(A) Differentiate w.r.t. y (A) Differentiate w.r.t. y
(B) Differentiate w.r.t. X (B) Differentiate w.r.t. X
(C) Differentiate w.r.t. p (C) Differentiate w.r.t. p
(D) None of these (D) T T oI TeI
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42. The integrating factor of Z—;+ 42. Z—;+P(}’)x=Q(}’) a1 gfeafe

Py)x =Q(y)is: DdeR §

(A) elPd (A) eJPdy

(B) efPax (B) elPax

() elod (C) el@ax

(D) e~JPax (D) e~/ Pax

43.  Which of the following equations ~ 43. o1 T3 % THIG=ON § 9 W Thdde

is exact ? 27

(A) (x? —a*y)dx — (ax — y?)dy (A) (X% —a'y)dx — (ax — y2)dy =
=0 0

(B) (x? —ay)dx — (a®x — y?)dy (B) (x% —ay)dx — (a3x — y2)dy =
=0 0

(C) (x% —ay)dx — (a?x — y?)dy €) (x% — ay)dx — (a%x — y2)dy =
=0 0

(D) (XZ - ClY)dX - (aX - yz)dy (D) (XZ — ay)dx — (ax — yz)dy =

=0 0

44. Solution of the differential 44. € TS AR FHIGRUT Bl FARM BFT

equation (y—xg) = a(y2 +%)
1S :

A) y=cl@a+x)(1-ay)

B) y=cla—x)(1+ay)

©) y=c*(a+x)(1-ay)

(D) y=c*a—-x)(1+ay)

(y-x3) =" +3)

(A) ¥ = c(a+x)(1-ay)
B) ¥ = c(a—x)(1+ay)
© y=ca+0)(-ay)
D) y=ca-0)(1+ay)

45. What is the order of the 45. T 7 3R THBRO BT 3eX FT SN
differential equation ? dly ; (ﬂ)z 4 d?y : dy v
%_3(%)2“%_5%%},:0 axt 2 \ax3 a2 Cax Y
(A) 3 (A) 3
B) 6 (B) 6
) 4 (C) 4
D) 2 (D) 2
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46.  Solution of cos(x + y) dy = dx is: 46.  cos(x +y) dy = dx &1 FHEI BFT :
(A) y=c+10g§(x+y) (A) y=c+1og§(x+y)
(B) y=c+cot2(x+y) (B) y=c+cot2(x+y)
(C) y:c+tan%(x+y) (C) y:c+tan%(x+y)
(D) y=c+sin2(x+y) (D) y:c+sin2(x+y)
47.  The order and degree of the 47. & TR aHE a2y _
dx?
differential equation iﬁ = 3/ *
dx dy 2 2 )
y {1+(—)} a1 dffex aik Rt
1 dy 2 2 dx
{ + (E) } BT
(A) 3,3 (A) 3,3
B) 2,2 (B) 2,2
© 3,2 C) 3,2
D) 2,3 (D) 2,3
48. LF. of the differential equation  48. T g 3R FHIHRYT HT LF.ENT :
(1+xy)yds+ (1 —xy)xdy =0 (1+xy)yds+ (1 —xy)xdy =0
1S : 1
a) =
A = i
B) —
1 xy
B) — 1
xy ©) =
1 x2y
© = 1
D) ==
1 x2y
®) =
49. Solution of (x?2+y?dx—2xy 49. (x%+y?)dx—2xydy = 0 BT G
dy =0is: 21T
(A) x—y*=cx? (A) x—y? = cx?
(B) x*—y?=cx (B) x%—y? = cx
(€) x*—y?=cx? (C) x%—y? = cx?
(D) x—y=cx (D) x—y=cx
50. Solution of the differential  50. < TG IR FHGRU T TR @
equation (1 +x)y dx + (1 —y)x BT (1 + x)ydx + (1 —y)xdy = 0:
dy =0is: (A) x2y2 = ceV ¥
(A) x?y? =ce’™™ (B) xy =ce’™*
B) xy =ce¥™* (C) xyZ S
(©) xyz =cer™* (D) xzy = ceVX
(D) x%y = ce¥™™
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51. 0 6 7 51. 0 6 7
Matrix l—6 0 8] is Az l—6 0 8] ENE
-7 -8 0 -7 -8 0
(A) Symmetric (A) HAd
(B) Skew-symmetric (B) fa=eT |Hi#Ha
(C) Unitary (C) 3Pl
(D) Orthogonal (D) FHBIT
52.  The diagonal elements of a Skew- 52. fawm Efics AYg o fa@u 9@ B
Hermitian matrix must be : RV :
(A) Zero or real (A) A GIRSIER]
(B) Zero or imaginary B) @A CARYEET
(C) Zero (O
(D) None of these (D) T | By el
53. If A is a non-singular matrix then 53. IT A U®H Wﬂﬂﬂ AYe g @
(A tis: (A1) 139 :
A) 1 (A) 1
(B) A1 (B) Al
© A ) A
(D) AA™Y (D) AA™l
54. If A is a square matrix, then A+ 54, IR ATH T MAYET e T A+ A &
Alis: (A) 3PS YT
(A) Unit matrix (B) ¥ S
(B) Null matI:IX | ©) ST
(C) Symmetric matrix ) T A B T
(D) None of these
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55. The inverse of an elementary 55.  URIE® ATz bl el HT 81T :

matrix is any : (A) e
(A) Matrix
(B) ¥ e
(B) Zero matrix .
(C) Elementary matrix © e
(D) None of these (D) T 9 P T
56.  The value of K when the matrix  56. ¢ & a9 g SR [g 15(] FT ToeT
[g I;] does not have an inverse =
1s: A) 2
(A) 2
B) ®) >
10
© = © 3
3
D) = D) =
57.  Which is non-singular matrix ? 57.  ®F A YHA AR © ?
2 3 2 3
Al 3] @A) 1, 3]
1 0 1 0
® lo 1] B) g 1]
©) :5130( coga] ©) :siga coga]
1 2 3 1 2 3
© [; 5 4 ® 3 5 4
58. 1 2 3 58. 1 2 3 _
IfA=|2 3 4], then rank (A) JdeA=[2 3 4],6@%35(,4)@:
3 4 5 3 4 5
1s: A) 1
A) 1 (B) 2
(B) 2 €) 0
<€) 0 D) 3
D) 3
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59. 1 2 0 50 1 2 0
If A=110]andB= u%A=110]3ﬁ?B=
-1 40 -1 4 0
0 0 0 0 0 0
0 0 O]thenrank (AB)is: 0 0 O]ﬂ'ﬁfﬁfﬁ(AB)sﬂ:
1 4 9] 1 4 9
A) 0 (A) 0
(B) 1 (B) 1
© 2 ©) 2
(D) 3 (D) 3

60. If A is a non-singular matrix of  60. I A Uh HchAUIA IATYE IR

order n, then the rank of A is : Fn & a9 @ (A) 2T -
(A) 1 A) 1

(B) 0 B) 0

(C) n ©) n

(D) n? D)

61. Set of vectors {(1,2,1),(3,1,5), 61. d&x & % {(1,2,1), (3,1,5)

(3,—4,7)} is : (3, —4,7)} BT :

(A) Linearly independent (A) Red HU ¥ WA
(B) Linearly dependent (B) XRga wu ¥ anfid
(C) Basisof R (C) R 9T MR

(D) None of these (D) & ¥ T T
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62. The rank of the matrix 62. T Tg Az @l & @ OE

2 -1 31 2 -1 3 1

1 4 =2 1]is 1 4 -2 1]:
5 2 4 3 5 2 4 3

A) 1 A) 1

(B) 2 (B) 2

© 3 (C) 3

(D) 4 (D) 4

63. The equations x+y+z =6, x— 63. @ T3 FHH Xx+y+z=6, x—

y+z=2, 2x+y—z=1 have y+z=2,2x+y—z=17% IUT :

the solution :

(A) x=1y=12z=4
(A) x=1y=12z=4

B) x=1y=3,z=2
B) x=1y=3,z=2
©) x=2,y=172=3 ©) x=2,y=1,z=3

D) x=1y=2,z=3 D) x=1y=2z=3

64. The equations x+y+z=3; x+ 64. @ T THH Xx+y+z=3; X+

2y+3z=4; 2x+3y+4z=7 2y+3z=4; 2x+3y+4z=7 @
have the solution : U

(A) x=2y=1z=1 (A) x=2,y=1z=1

B) x=1Ly=2z=1 B) x=1y=2z2=1

©) x=3y=-1z=1 (C) x=3,y=-1,z=1

D) x=2,y=0,z= D) x=2,y=0,z=3
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65. The eigen values of the matrix

a h g
0 b 0] are :
0 0 c

(A) a,b,c

A=

(B) a, g h
(C) a,gb

(D) None of these

66. At least one characteristic root of

every singular matrix is :
A) 1

(B) -1

<€ 0

(D) None of these

67. If A is an eigen vector of the non-
singular matrix A, then an eigen
value of A1 is
(A) A
B) A—-2
(C) A1
(D) None of these

68. The characteristic roots of a
Hermitian matrix are :
(A) All real

(B) All imaginary

(C) Some real and some
imaginary

(D) None of these

65.

66.

67.

68.

q TG AFE B I T A=

a h g
Obolaﬁ

(A) a,b,c

(B) a,gh

(©) agb

(D) T ¥ PIE Tl

G S 2 B e G| B A
FHHANI T T & -

(A) 1

(B) -1

© 0

(D) T ¥ PIE Tl

e A TE A ddeR B fod
G SE A P, T A deg
A~T &I BT :

(A) A

(B) A—2

(S

(D) T ¥ PIE Tl
Eﬁéaﬂﬁ@?ﬁiﬁaéﬂlﬂ SEREIE
(A) 99 daRdfdd

(B) 94 HIcud

(C) 6B IS AR FB Bred -

(D) T ¥ 35 eI
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69. The eigen values of the matrix 69. < g Agg DI AR a@

1 -1 -1 1 -1 -1
1 0 -1 1 0 -1
A) 1,-1i (A) 1,-1,i
B) -1,i,-1 (B) —1,i,-1
© -1Li1 C) -1,1,1
D) 1,-1,+ (D) 1,-1,4

70.  Characteristic roots of the matrix ~ 70. & 73 AYg o fEma o

6 -2 2 6 -2 2

-2 3 —1fare: _9 3 _1] 2t -
2 -1 3 2 -1 3

(A) 2’ 2)8 (A) 2’ 2)8

(B) 2,2,-2 (B) 2,2,-2

(©) 2,42 (C) -2,4,2

(D) 2,8,8 (D) 2,8,8

71, If 2+3i=r(cos®+isin@), 71. I 2+ 3i=r(cosB +isin0), T4 :

then:
°n (A) 6= cos_lg
2
(A) 6= cos_lg
(B) 6= cos_l\/;
V3
(B) 6= cos_l?
(C) 6=tan"12
— -13
(C) 8 =tan .
(D) 6 =sin"12

(D) 6 =sin"12
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72.  In the form of series, the value of  72. Tl_si AR H, cos o &1 A BT
cosais: 3 o5 o
(A) == += ==+t
E o o 31 51 7
A) a——+———+.e.
31 51 7! Z o5 o
(B) a+=—+=—+—F. ..
o3 ob o’ 3! 5! 7!
(B) a+=—+=—+—F.en.
3! 5! 7! o at
s O 1——=4+—4..
o |« 21 4l
<) 1- o + Il T . .
(D) T ¥ BIg el
(D) None of these
73.  The value of (cos® +isin®)" is 73.  (cos® + isin0)" BT AT IR § :
equal to : (A) cosnB +isinn6
(A) cosnB +isinn6 .
(B) cosnB —isinn®
(B) cosnB —isinn6
(C) cosnb
(C) cosnb
_ (D) sinn6
(D) sinnb
74. If1+4+1i=r(cosO + isin0), then: 74. I 1+i=r(cosB +isinB), T9 :
(A) ezg,r=1 (A) e:g,r:1
(B) 6=7,r=2 (B) 6=",r=2
(C) e:g,l":\/i (C) e:E'r:\/E
D) 6=2,r=12 D) 6=2,r=v2
75.  Real part of sin (a + i) is : 75.  sin (a + i) BT AR(AD WRT BT :
(A) cosa sinh B (A) cosa sinh (3
(B) sina cosh B (B) sina cosh
(C) cosa cosh fB (C) cosa cosh
(D) sina sinh 8 (D) sina sinh (3
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76.  Value of cosh™1xis: 76.  cosh™1x T A 8N :
(A) log{x—Vx*+1} (A) log{x— VxZ+ 1}
(B) log{x+Vx?+1} (B) log {x+ Vx?+1}
(C) log{x—Vx* -1} (C) log{x—x%—1}
(D) None of these (D) T4 A ®Ig 7Tl
77.  Value of sin"}(x + iy) is : 77.  sin~l(x + iy) @ A &R :
(A) nm+ sin~1(x + iy) (A) nm+ sin~1(x + iy)
(B) nm+ (=1)"sin~!(x + iy) (B) nm+ (—D)"sin"1(x + iy)
(C) 2nm % sin~!(x + iy) (C) 2nm+sin~i(x +iy)
(D) None of these (D) T4 A DY 78l
78.  The expansion of cosh x is : 78.  cosh x @I fOIR BN :
X2 X3 2 3
(A) T+x+=+=+ (A) T+x+=+=+. ..
2t 3! 21 3!
X x5 3 5
B) x+ 5+t (B) x+%+%+ ..............
X X 2 4
© 1-S+ s (©) 1=+ =
(D) 14>+ =+ (D) T+
2! ! 21 !
79. €l®=7? 79. €% =2
(A) cosO +sin6 (A) cosO +sin6
(B) cosB —isinB (B) cosB —isinB
(C) cosBH —sinH (C) cosH —sinH
(D) cosB +isinB (D) cosB+1isinB
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80. The value of cosh 20 1is: 80.

(A) 1—2cosh?0
(B) 1+ 2cosh?0
(C) 1+ 2sinh?0
(D) 1—2sinh?0

81.  The value of logif is : 81.

(A) logp?
(B) -log,/B

(C) loge.B+i (Zn +%)T[

(D) None of these

82.  The principal value of logv—1is:  82.

T,
=1

(A) 3
B) i
© 3i

(D) None of these

83.  The value of loge —3 is : 83.

(A) loge3 +im

cosh 20 T #H &N :
(A) 1—2cosh?0
(B) 1+ 2cosh?0
(C) 1+ 2sinh?0
(D) 1-—2sinh?0
logiBWW?ﬂﬂ:

(A) logp?

(B) -log,/B

(C) log.B+i (Zn + i)n

(D) T 4 B T
logv/—1 & ¥ HIF &R :
(A) Zi

B) i

©) i

(D) T 4 B T

loge—BWW?I‘Tf:

(A) loge3 +im

(B) loge3 (B) log.3
(C) loge 2 (C) log,?2
(D) None of these (D) T4 A DY 78l
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84.  The principal value of log(a + i) log(a + i) @1 Hef HIH BT
15 1 (A) ilog,/(a2 + B?) +i(2nm +
(A) Elog,/(a2 + B2) +i(2nm +
tan~1&
-1 B «
tan 1;)
(B) log+/(a? + B2) + itan1%
2 2N L itan—1P «
(B) log+/(a*+ B%) +itan -
) (C) -log(a? + B?)
(©) log(e® +B?)
(D) T A B T
(D) None of these
85.  Which of the following differential fy= faves Fexe § a9 91 Rad
equations is linear ? 27
Y 2y = g
(A) 3+ X7y =siny (A) %+X2y=siny
(B) ' _ x2y = sin dy
dx y y B) - x%y = siny
dy . _
© (A+y)4 +sinx=0 ) (1+y)%+sinx=0
dy )
D) G Ty +x)=x (D) T+yy+x =%
86. Integrating factor of the equation q TS IHE (1 + XZ)? + 2xy =
X
2 ﬂ — 1Q - o
(1 +x5) 5 F 2%y = cosxis: cos X @ YdHIHd BR8N :
(A) tan!x (A) tan~1x
1
(B) 1+x2 (B) 1+1X2
(€) 1+x? (C) 1+x2
-1 l
(D) tan™ — (D) tan_li
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3 3
87. " If the differential equation x? % + 8 o foee  wlhexm  x? % +
dy\ 2 4w\ 2
(1+X2)(d—Z) +y =x has order (1+X2)(d—Z) +y=x® H9 m R
m and degree n, then : fefin & 9
(A) m=1,n=2 (A) m=I, n=2
(B) m=2, n=l (B) m=2, n=1
(C) m=3,n=1 (C) m=3,n=1
(D) m=1,n=3 (D) m=1, n=3
88. General solution of differential  88. @ g faWed IRV ydx — x dy =
equation y dx —x dy = 0 is: 0 T G GHEE 81T
y _
(A) 3 (A) Z=c
(B) Xy =¢C (B) Xy =¢C
C) x-y=c (C) x—y=c
(D) x*—y*=c (D) x*—y2=c
89.  General solution of differential  89. & 7% foves wiowo ? = i’ (x,y >
equation :— ==,(x,y>0)is: 0) $1 AHRI FHEH 20T
(A) y=x+c (A) y=x+c
_1 1
B) y=1 (B) y==
C) y=cx ©) y=c
(D) y=x D) y=x
90. General solution of differential ~ 90. @ TS ERCE IR
equation —d Y s - 1 Y TR S
xi+y? xdx+ydy
(A) x+y=¢e X +y?
(A) x+y=¢°
2 1 o2 — o
(B) X +y =€ (B) X2+y2=e°
(C) xy=¢e° (C) xy=¢e°
(D) None of these (D) T 9 P T
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91. The condition that the differential  91. f=foiRad favicd THARUT &I TdheH

equation M dx + N dy = 0 is exact el B @ Rufg 2rf
is : Mdx+Ndy=0
®) 5 =% w 5=5
® 5= ®) =5
© %=2% © F=2%
(D) 250 =5 () 250=1%
92. 1t —(2—1:—6—1\/{) f(y), then 92- 3fX —(a—N—a—M) f(y), T ToIgd
integrating factor is : HNB BT

(A) e~/ fOdy (A) e~Jfdy

(B) el fo)dy (B) el f»dy

(C) f(y) el fdy (C) f(y) e/ f0dy

(D) [ e @f(y)dy (D) [ e Wf(y)dy
93. The order of the differential  93. & % favgs wiiowo &1 w9 4L —
dx3

equatlond——2u+3dy+2y 0

dx® 2ﬂ+3dy+2y 0 81 :

1S :

(A) 3
(A) 3

(B) 6
(B) 6

C) 4
© 4 ©)
o) 2 (D) 2
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94. The integrating factor of the 94. < T3 fMITH THART BT THIHd HRS
. . : 2 dy
differential equation cos”x ™ + cos2 x% +y=tanx S
y =tanxis:
(A) sec?x
(A) sec?x
(B) cos?x
(B) cos?x
(C) tanx
(C) tanx
(D) etanx (D) etanx
95.  The integrating factor of the %+ 95. @ T |HERT %+ iy = x%y® @I
iy = x2y5 is : Uohihd HRB BT -
L A) =42
(A) Z+2 (A) =
1 B 1
(B) <5 ( ) %5
1 1
©) ;-l- 1 ©) ;-l- 1
(D) x+1 D) x+1
96.  The integrating factor of the X% + 96 T Ry x% +y =y?logx &I
y =y*logxis: UHIpd BRE BT :
1
S (A) -
B) x+1 (B) x+1
1
(€) -+1 ©) =+1
1
il 1
D) = D)
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97.  The integrating factor of % +i = 97 & g giexo % +i = ex—y B U ¢d
ex—yis : PRP &I -
1
(A) Xl4 (A) <4
1
(B) x% (B) <3
1
(C) Xlz ©) <2
(D) = D) 3
98.  Which of the following equations 98. fyfaRad THiaRT § | B9 W UdHeH
is exact ? Tqerg?
(A) (4x+3y+ Ddx+ (3x+ 2y (A) (4x + 3y + Ddx + (3x + 2y +
+1)dy =0 1)dy =0
(B) (4x+4y + Ddx+ (3x + 2y (B) (4x + 4y + 1dx + (3x + 2y +
+10)dy =0 10)dy = 0
(€) (4x+5y+ Ddx+ (3x+2y (C) (4x+ 5y + Ddx+ (3x+ 2y +
+1)dy =0 1)dy =0
(D) (4x+ 5y + Ddx + (3x + 5y (D) (4x + 5y + 1)dx + (3x + 5y +
99. Solution of the differential 99. A T fPEE TGO T FARH
equation (x +y + 1)dy = dx is : (x+y+ 1dy = dx 8 :
(A) x+y+1=ce (A) x+y+1=ce¥
(B) x+y+3=ce (B) x+y+3=ce¥
©) x+y+2=ce” (C) x+y+2=ce¥
(D) None of these (D) $TH q DY T8l
100. Solution of differential equation 100. & E faved FHIGO B FHRIE p? +
p>?+7p+12=0is: 7p + 12 = 0 BN :
(A) x2=7y+12=0 (A) x2—7y+12=0
B) y?-7x+12=0 (B) y2—7x+12=0
(C) G—4x+)y—3x+c)=0 (C) (y—4x+c)(y—3x+c)=0
D) G-4y+9(y—3x+0) =0 D) x—-4y+)(y—-3x+c)=0
Khkdkhk
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Note:

DO NOT OPEN THE QUESTION BOOKLET UNTIL ASKED TO DO SO

Examinee should enter his / her roll number, subject and Question Booklet
Series correctly in the O.M.R. sheet, the examinee will be responsible for
the error he / she has made.

This Question Booklet contains 100 questions, out of which only 75
Question are to be Answered by the examinee. Every question has 4
options and only one of them is correct. The answer which seems
correct to you, darken that option number in your Answer Booklet

(O.M.R ANSWER SHEET) completely with black or blue ball point

pen. If any examinee will mark more than one answer of a particular
question, then the answer will be marked as wrong.

Every question has same marks. Every question you attempt correctly,
marks will be given according to that.

Every answer should be marked only on Answer Booklet (O.M.R
ANSWER SHEET).Answer marked anywhere else other than the

determined place will not be considered valid.
Please read all the instructions carefully before attempting anything on
Answer Booklet(O.M.R ANSWER SHEET).
After completion of examination, please hand over the O.M.R. SHEET to

the Examiner before leaving the examination room.

There is no negative marking.

On opening the question booklet, first check that all the pages of the
question booklet are printed properly in case there is an issue please ask the

examiner to change the booklet of same series and get another one.
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